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MÓDULO 3 
INTERPRETAÇÃO TEXTUAL 

TEXT 

Life and the Movies 
Joey Potter looked at her friend Dawson Leery and she 

smiled sadly.  
“Life isn’t like a movie, Dawson,” she said. “We can’t write 

happy endings to all our relationships.” 
Joey was a pretty girl with long brown hair. Both Joey and 

Dawson were nearly sixteen years old. The two teenagers had 
problems. All teenagers have the same problems - life, love, school 
work, and parents. It isn’t easy to become an adult. 

Dawson loved movies. He had always loved movies. He 
took film classes in school. He made short movies himself. Dawson 
wanted to be a film director. His favorite director was Steven 
Spielberg. 

Dawson spent a lot of his free time filming with his video 
camera. He loved watching videos of great movies from the past. 
Most evenings, he watched movies with Joey. 

“These days, Dawson always wants us to behave like 
people in movies,” Joey thought. And life in the little seaside town of 
Capeside wasn’t like the movies. 

Joey looked at the handsome, blond boy who was sitting 
next to her. She thought about the years of their long friendship. 
They were best friends... 

Questão 01 

(ESPCEx 2011) In the sentence “All teenagers have the 
same problems - life, love, school work, and parents”, 
the conjunction and indicates 

a)  contrast. 
b)  result.  
c)  reason. 
d)  consequence. 
e) addition. 

Questão 02 

(ESPCEx 2011) Which alternative best explains the 
sentence “We can’t write happy endings to all our 
relationships”? 

a)  It’s not possible to decide what happens in our future. 
b)  We need permission to write books about happy endings in 

relationships. 
c)  Our relationships are the happiest things in our lives. 
d)  Happy endings are always possible in real life. 
e) People expect unhappy endings when they watch a movie. 

Questão 03 

(ESPCEx 2011) According to the sentence “Joey looked 
at the handsome, blond boy who was sitting next to her”, 
it is correct to say that Dawson was 

a)  strange. 
b)  calm.  
c)  ugly. 
d)  good-looking. 
e) intelligent. 

Questão 04 

(ESPCEx 2011) According to the text, which alternative is 
correct about Dawson? 

a)  He first met Joey a couple of weeks ago. 
b)  He spent most of his evenings with Joey. 

c)  He had dark hair. 
d)  He didn’t have any problems. 
e) He was older than Joey. 

Questão 05 

(ESPCEx 2011) According to the text, “The two teenagers 
had problems” because 

a)  they wanted to be film directors. 
b)  it is difficult to become an adult. 
c)  they wanted to behave like people in movies. 
d)  they were best friends. 
e) they watched movies until late at night. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

GABARITO 
1 2 3 4 5 
e a d b b 

 


